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Error Corr
.

& Surface Code , Crash Course
Idea : • Need redundancies

• Check if they all agree ( parity)
• Map thatparity

.

to a " sacrificial
"

angie ,
which you can readout & therefore decide
to perform an error correction or not .
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Stabiliser Code or parity check
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Define stabilizer Code
XZ = -ZX

Def : Set of code States e. g .
s , iron

ftp.cc:5/4s=l47-Voperatorssc#
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We say S ,, stabilizes
"

147 because 14> is the th
Eigen state of S .
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⑧ Ancilla
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ERRORS

• alarmed • 2- error ⑧ X error
ancilla
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